werksheet 6

Q1: Find the exact values of:

g=12 V-27=-3
) 64 Y4 2
"\5*‘\25: _-.3533 E:é
3[SX25 = yHNSXKS § Ve =2
= 5
Q2: Find x:
2 (% = 2x2 =200
,11' 81 X=F = ?-x 2_9
i guyao ~=F 10
i 8 o 227
=2 X=-3
s[3 20 I_50=
X WO 2x +5;?) 2'9%}0
~=0 1_950
Y= ==
SGae
=
Q3: Find the exact values of: Ry
1 1 3}
95}(83 = JCI X g
- B3x2=€
; )3 4
162 :( & )= 1= ét"
, -1 -
PR TR Br Hp |
7 = = 2 L
3 g3 (Iz) 2> 1
3P _ /e 16
J2x2x3x3x5x5) = 30
P
2 x3 x5
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Q4: Find the exact values of: 1 4L =% =\
< A
[ 1 Cclcw pow! ) v \ - =)
L Lol
4RHGLS preid S S
L | \ Labald -
a’*xa’xa’ =0 =0 ’\'q*‘-l S
1 1 1 \
a*xa*xa*xa' = =%
Q5: Find the exact values of:
1 i 3
a) 643 b) 125? c) 25¢
3 £
3§ca=4 3@:5 (Ja_é): 52129
9 5 ) g U
5 3 3 L= 1
(3 3 );Q:B’l (‘\ST.ET): 2=9% G gy
g) _{'% hy 277 i) § 1y
1 :_-L:.-L 3 3_
__L—,_I_.-“L A== s 3 _JEXQ,J_J(Zlez
% W 2 21 (f27)* 3 ]
3
3
B Rt h (25} _ (162
j) [3e}u:l 8 -:_g% Q&_)ﬁ (ﬁ} = -.1—‘_-.})
== l 6 3:: CALS Q’—
2* 9 (%:;) [5') 25
2 = \(Lf-g o) 4
m) ,"_J_ﬁ)s (V3 J2'x 9
27 g ,1,2 L "
" 2°x3 =
(B4
g/ 1/ 4
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- 2\
par Y2 _ (25 , s5y? _ 5
Q6:  Simplify [% —~ cqi) = 294 - 5Y
3
\I-")f-': X

Qr: a) Simplify, lea\mn}ouransucrmmdexfnrm
i) -f"X-I—L,iS i) 6 +65 = ¢ =\

2z
by 7"=1 6
Find the value of y.
7= S
_?r.-: Il => tl =0 el
Q8: Evaluate the following,
Give your answers as fractions.
II] 3 CL) —u|: _l_ :-_"_
b) 3( s ]1 3% ¥l
27 9
-/2\ N
b (Bf 2 ] B "‘) = 4
g BTSN @)
2 & x&= 3¢

4+2°
4+2)°

b) Write your answer (o part a) asa dccmnl.

q9: a) Find, as a fraction, the value nf

J Y48 12 -1
6'1 3¢ 3
L) %:o.é
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0
Find the value of .

Quo: 3'=

3=
Tq
N_ |
> =31 T =
-1
.?n=3 2>{n=-2|

Qi 3x427=3"

Find the value of n.

Q12: a) Simplify, leaving your answer in index form
i) 5¢x5¢ i) 97+ 9!
§ o 35

b) Solve =3

3J'I

w ‘2
a.)t—=§> ‘53
ir=> 9

=y
'«{
b) 3°Xx3 . 3
N

3

13 Y
3 =3
sn

= Y
313 ﬁ:3
|,3-ﬂ:‘l-ll
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